REX DOCS

rbt.ist/rexrdt

E Buy REX

rbt.ist/rexgithub

BalanceBot

BalanceBot is a REX robot that can maintain balance against changing environmental factors, thanks to the
MPU6050 acceleration sensor located on the REX board.

How does BalanceBot Stay in Balance?

Various algorithms can be used to keep BalanceBot in balance. We will use the PID algorithm to keep
BalanceBot in balance.

How Does PID (Proportional, Integral, Derivative) Algorithm Work?

The difference between the data coming to the input signal with the feeedback and the input signal is found.
This difference creates the error. The error signal is sent to the PID controller, and three different formulas are
applied to the error signal with three different parameters. Then, it is returned to the output signal. This
process is repeated until the error is minimized.

¥ |02

CEBOT

+

BALA

SETUP GUIDE

1.5 T T T T T T T T T
@
1+ \\_//\
0.5- Kp |
Ki
0 i
L L 1 1 1 1 1 1 1

Environmental factors are calculated by using the MPU6050 (gyro/acceleration) sensor on the REX board,
and they are sent to the PID. The PID generates the output signal by performing the necessary operations to
keep in balance the BalanceBot.

03| i

Components of BalanceBot

’—- REX Main Board

DC Gear
Motor 2pcs.

#l M3 Nut 4 pcs

_—I M3 x 6 mm Screw 4 pcs. - ( Plastic )

m—. M3 x 8 mm Screw 12 pcs

w—- M3 x 30 mm Screw 4 pcs.

Gear Motor Wheel 2pcs.

M3 x12 mm Female Spacer 2 pcs.

_—. M3 x 25 mm Female Spacer 4 pcs.

MPUG050
Acceleration Sensor

M3 x 50 mm Female Spacer 4 pcs,

Plexiglass Parts ( Robot Chasis )

B2

B1 4pcs.

B3

05| g

B2

B12 pcs.

DC Gear DC Motor

M3 Nut 2 pcs.

Apply the same assembly steps to other side.

M3 x 30 mm Screw 2 pcs.

¥ o6

M3 x 50 mm Female Spacer 4 pcs

TME X 25 mm Female Spacer 4 pcs

i

1

1
M3 x 8 mm Screw 4 pcs. J

M3 x 8 mm Screw 4 pcs.

07| 1



MPUG050 Acceleration Sensor M3 x 6 mm Screw 4 pcs.

(Plastic screw )

M3 x 8 mm Screw 4 pcs.

M3 x 12 mm Female Spacer 2 pcs.

[

Gear Motor Wheel

B3

REX Main Board

M3 x 8 mm Screw 2 pcs.

The Circuit Diagram

MPU6050 Acceleration Sensor After assembling the acrylic pieces, you can proceed with circuit installation as shown in the diagram below.

Motor 1

MPU6050

Motor A - B Slot Motor C - D Slot

Arduino Code

i Scan the QR code to go to
the whole code and the
y . necessary libraries.

13| gt

secsese

00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000

seesesescsscsesesas

secssscscsne sesscses

seesesescsscseseses

ssesesesesscsesesss

sesscscscsne

esesesscscsnss

ssesesesscsesssacse

esesesesscsesesscscsesscscsesessesesesscsessssesesesessesessnes

secscee

esesesesscsesesscse

esesesssscsessssns

eeesesecsesesesacsesessesesesesscsesesstsessssesesessssesesessene

esesesscsese

cecnee

esesesscsese

sesssscscsne

sesssses

cesnee

esesesscsese

seesesesesscscsesas

sesssscscsne $0000000000000000000000000000000000000000000000000000000000000000000000000000000000

seesesesesscsesesscscscsscscsesscscsesssscsess

eeesesecsesesesacsesesscsesesesscsesesstsessssesesessssesessssene

esesesscsese

ceseee

sesssscscsne

sesscses

cesnee

sesssscscsne

cseses

sesssscscsne esesesesscsesesacse

eeesesecscsesesscscscsscscsesssscsesesscsese

esesesssscsesesss

secsese

$000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000

cecnee

esesesscsese

secssscscsne sesscses

cesnee

esesesscsese

seesesesesscsesesas

sesssscscsne

esesesscscsess

ssesesesscsesssscse

esesesecscsesesacscsesscscsesessesesesscsessssesesesessesessses

secsese

esesesesscsesesscse

esesesssscsessssns

eeesesecsesesesscscsesscsesesesscesesesstsessssesesessssesesessene

esesesscsese

cesnee

sesssscscsne

e

cesnee

ssesesesesscsesesss

sesssscscsne ee0sesesscsesesasscsessesesesessesesesscsessssesesesessesesstsns

esesesssscsesesss

seescsesesscsesesssscscsnns

0000000000000000000000000000000000000000000000000000000000000000000000000000000000000

esesesscsese

cecaee

esesesscsese

sesssscscsne

sesscses

cecnee

esesesscsese

sesssscscsne

eseses

sesscscsesne

esesesscscsnss

ssesesesscsesssacse

esesesecscsesesacscsesscscsesesscsesesstsessssesesessssesesssss

secscee

esesesesscsesesscscscsscsesesscscsnne

000000000 000000000000000000000000000000000000000000000000000000000000000000000

seesesesesscscsesas

sesssscscsne sesssses

seescsesesscscsesas

ssesesescsscscsesas

sesscscscsne

esesesesscsesesscse

esesesecscsesesasscsesscscsesesscsesesscsessssesesesessesesssss

secseee

esesesesscsesesacse

esesesssscscssssns

eeesesecsesesesacsesesscsesesesscsesesstsessssesesessssesessssene

esesesscsese

ceseee

sesssscscsne

sesscses

cesnee

ssesescsesscsesesss

sesssscscsne 0e00esessesesesasscsessesesesessesesesscsessssesesesessesessans

esesesssscsesesss

ssesesesesscsesesssscscsnns

0000000000000000000000000000000000000000000000000000000000000000000000000000000000000

esesesscsese

cecnee

esesesscsese

secssscscsne

sesscses

cesnee

esesesscsese

secssscscsne

cseses

sesssscscsne

esesesscscsess

ssesesesscsesssscse

esesesecscsesesasscsesscscsesesscsesesscsessssesesesessesessses

secsese

esesesesscsesesscscscsscscsesscscsnsne

000000000 000000000000000000000000000000000000000000000000000000000000000000000

cesnee

sesssscscsne e

cesnee

ssesesesesscsesesas

sesssscscsne

esesesesscsesssacse

eeesesesscsesesscscscsscscsesssscsesesscsese

esesesscscsesesss

secsese

ssesesesscsesesacse

0000000000000000000000000000000000000000000000000000000000000000000000000000000000000

esesesscsese

cecaee

esesesscsese

sesssscscsne

sesscses

cecnee

esesesscsese

ssesesesesscsesesss

sesscsescsne

esesesscscsnss

$0000000000000000000000000000000000000000000000000000000000000000000000000000000000

ssesesesesscsesesscscscsscscsesssscsesesscsene

eeesesecsesesesacsesesscsesesessesesesstsessssesesessssesesessese

esesesscsese

cecnee

esesesscsese

sesssscscsne

sesscses

cesnee

esesesscsese

secssscscsne

cseses

sesscscscsne esesesesscsesesscse

eeesesecscsesesacscsesscscsesessesesesscsessssesesesessesesssss

secscse

esesesesscsesesscscscsscsesesscscsnne

000000000 000000000000000000000000000000000000000000000000000000000000000000000

cesees

sesssscscsne sesscses

cesnee

ssesescsesscsesesss

sesssscscsne

esesesesscsesesacse

eeesesecscsesesscscscsscscsesssscsesssscsese

esesesssscsesesss

secsese

esesesesscsesesscse

0000000000000000000000000000000000000000000000000000000000000000000000000000000000000

esesesscsese

cecnee

esesesscsese

secssscscsne

sesscses

cesnee

esesesscsese

seesesesesscsesesas

$00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000

seesesesesscsesesscscscsscsesessssesesssscsene

eeesesecsesesesscscsessesesesessesesesstsessssesesessssesesessese

esesesscsese

cesnee

sesssscscsne

e

cesnee

sesssscscsne

cseses

sesssscscsne

esesesesscsesssacse

eeesesesscsesesscscscsscscsesssscsesesscsese

esesesscscsesesss

secsese

$0000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000

cecaee

esesesscsese

sesssscscsne sesscses

cecnee

esesesscsese

ssesesesesscsesesss

sesssscscsne

esesesscscsnss

ssesesesscsesssacse

esesesecscsesesscscsesscscsesessesesesscsessssesesesessesesssss

sesscee

esesesesscsesesacse

esesesssscsessssns

eeesesecsesesesacsesesscsesesessesesesstsessssesesessssesesessese

esesesscsese

cecnee

esesesscsese

sesssscscsne

sesscses

cesnee

esesesscsese

seesesescsscsesesas

sesscscscsne $0000000000000000000000000000000000000000000000000000000000000000000000000000000000

| 14 15| @&




